Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-VII + EXAMINATION - SUMMER 2013

Subject Code: 350904 Date: 13/05/2013
Subject Name: Digital Electronics and Digital Instruments
Time: 02:30 am TO 05:00 pm Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

Q.1 (@  Answer the followings.

(1) Convert binary number 101101.1011 in to hexadecimal and 03
Octal.
(2) Convert hexadecimal number ABC.A2 into binary, decimal 04
And octal.
(b) (1) Subtract binary 1111011 from 1110001 using 2’s complement 03
Method.
(2) Prove that (AB+BC+CA)’=A’B’+B’C’+C’A’ 04
Q.2 (@ Explain NAND gate as Universal Gate. 07
(b)  Explain full adder with logic diagram and truth table. 07
OR
(b)  Write important parameters of digital 1C and Explain any five. 07

Q.3 (@ Explain 4-bit binary ripple counter with the help of logic diagram, 07
truth-table and waveforms.

(b) (i) Explain 3 to 8 decoder with truth table. 04
(ii) State the difference between combinational and sequential logic ~ 03
circuit.
OR
Q.3 (@) Explain a JK flip-flop circuit with truth -table and state its 07
advantages
(b) Explain serial in serial out shift left register. 07
Q4 (@ Explain Diode clamping circuit with necessary waveforms. 07
(b) Explain S-R flip flop in detail. 07
OR
Q.4 (a) State and explain De Morgan's theorem. 07
(b)  What are the different types of read-only memory? Explain any two. 07
Q.5 (@) Explain digital frequency meter in detail. 07
(b)  Explain digital voltmeter using Ramp type A to D converter. 07
OR
Q.5 (@ Explain binary ladder network D to A converter. 07

(b)  Give comparison between digital instrument and analog instrument. 07
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